[bookmark: _GoBack]Continental Drift Theory Lab
Name _______________
Class ________________
Date ________________
Data: 	Match up the different symbols on your continents to recreate Pangea.
Label the 2 main parts of Pangea and the major ocean.

1). Which continents appear to fit the best? _________________________________________________
2) Why might some continents that fit together in the past no longer fit together well anymore? _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________3) Describe the direction each continent has moved away from Pangea to get into its current position? 
North America: _________________________    	Europe / Asia: ___________________________
South America: _________________________		Africa: _________________________________
Australia: _________________      Antarctica: __________________   India: _______________________
4) Which continent appears to be in the middle of Pangea? ____________________________________
5) Why are subtropical Animals found on Antarctica? _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
6) What direction was the first separation to take place (what were the 2 sections called?) _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
7) Research Wegener (find new information about him as a scientist): _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________ 
Continental drift conclusion questions:
1). What is CDT (continental drift theory)? __________________________________________________________________________________________________________________________________________________________________________
2) Explain his proofs?
A).________________________________________________________________________________________________________________________________________________________________________B)________________________________________________________________________________________________________________________________________________________________________C)________________________________________________________________________________________________________________________________________________________________________D)________________________________________________________________________________________________________________________________________________________________________E)________________________________________________________________________________________________________________________________________________________________________
3) What was Pangaea? _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
4) Give its parts: 
A) Northern: __________________________________________________________________________
B) Southern: __________________________________________________________________________
C) Large ocean:________________________________________________________________________
5) How long ago was Pangea last together? _________________________________________________
6) What was the problem Wegener could never figure out? _______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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